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Part - I (General Intelligence)

Directions : Select the missing number from

the given response.

1.

1

9 8

24

4

?2

6

(A) 5 (B) 8

(C) 36 (D) 14

2. Which one set of letters when sequentially

placed at the gaps in the given letter series

shall complete it?

a _ n _ b _ _ n c b _ _ n c b

(A) b c a b a b

(B) b a c b a b

(C) a b c b c b

(D) a b b b c c

3. 'R' walks 1 km. to east and then he turns to

south and walks 5 km. Again he turns to

east and walks 2 km. After this he turns to

north and walks 9 km. How far is he from

his starting point?

(A) 3 km. (B) 4 km.

(C) 5 km. (D) 7 km.

4. If WOMAN is coded as 12345 and SERVANT

is coded as 6789450, then VOTERS will be

coded as:

(A) 920786 (B) 902876

(C) 978206 (D) 972086

5. In the following figure, the boys who are

athletic and are disciplined are indicated by

which number?

3

4

8
1

9
2

7
6

5

10

Girls   Athletics

Boys  Discriplined

(A) 1 (B) 2

(C) 6 (D) 10

6. Five different coloured buses are standing

in a row facing South. Black coloured bus

is standing in the immediate right of Red.

Green colour is between Blue and Yellow.

Yellow colour is between Black and Green.

Which coloured bus is standing in the

middle?

(A) Yellow (B) Blue

(C) Black (D) Green

7. If '+' means '÷', '×' means '+', '-' means '×'

and  '÷' means '-' then, which of the following

will be the correct equation?

(A) 24 + 8 - 7 × 6 ÷ 4 = 25

(B) 20 × 5 + 12 ÷ 6 × 5 = 15

(C) 20 ÷ 5 + 6 × 12 - 4 = 
6

1
67

(D) 50 - 4 + 8 × 18 ÷ 6 = 21

8. Which are the numbers that make their

presence felt in only one of the geometric

figures?

3 8 7 9

4

6

2

1

(A) 4, 6, 7 (B) 1, 2, 9

(C) 3, 7, 9 (D) 2, 3, 8

9. In a row of girls, Kamala is tenth from the

left and Vimala is twelfth from the right.

When they exchange their places, Kamala

is sixteenth from the left. What is the new

position of Vimala from the right?

(A) 18th (B) 22th

(C) 26th (D) 28th

Directions: (Question No. 10):-  In a code

language, the following alphabets are coded

in a particular way as shown. How are the

given letters coded in that language?

A C N P R M D Y Z Q

4 9 0 6 2 1 7 8 3 5

QRCYNPD

(A) 5298067 (B) 5298061

(C) 5984067 (D) 5298306

Directions: (Q. No. 11-17) Select the related letters

/ word / number from the given alternatives.

11. Carrot : Root : : Apple : ?

(A) Plant (B) Fruit

(C) Flower (D) Seed
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Part - I (rdZ'kfDr ijh{k.k)

funsZ'k % fn, x, fodYiksa esa ls yqIr la[;k Kkr dhft,&

1.

1

9 8

24

4

?2

6

(A) 5 (B) 8
(C) 36 (D)14

2. nh xbZ v{kj  Ükà[kyk ds [kklh LFkkuksa ij Øe ls j[kus ij
fuEufyf[kr esa ls dkSu&lk v{kj lewg mls iwjk djsxk\
a _ n _ b _ _ n c b _ _ n c b
(A) b c a b a b
(B) b a c b a b
(C) a b c b c b
(D) a b b b c c

3. R iwoZ dh vksj 1 fd.eh. pyrk gS vkSj fiQj og nf{k.k
dh vksj eqM+dj 5 fd.eh. pyrk gSA og fiQj iwoZ dh vksj
eqM+dj 2 fd.eh. pyrk gSA blds ckn og mÙkj dh vksj
eqM+dj 9 fd.eh. pyrk gSA og vius vkjEHk fcUnq ls
fdruh nwj ij gS\
(A) 3 fd.eh.
(B) 4 fd.eh.
(C) 5 fd.eh.
(D) 7 fd.eh.

4. vxj WOMAN dks 12345 ds :i esa dwVysf[kr fd;k
tk, rFkk SERVANT dks 6789450 :i esa dwVysf[kr
fd;k tk,] rc VOTERS fdl :i esa dwVysf[kr gksxk\
(A) 920786
(B) 902876
(C) 978206
(D) 972086

5. fuEufyf[kr vkÑfr esa] cfy"B o vuq'kkflr yM+dksa dks
dkSu&lk vad iznf'kZr djrs gSa\

3

4

8
1

9
2

7
6

5

10

yM+fd;k¡   cfy"B
yM+ds  vuq'kkflr

(A) 1 (B) 2
(C) 6 (D) 10

6. ik¡p fHkÂ&fHkÂ jaxksa dh clsa nf{k.k fn'kksUeq[k ,d iafDr esa
[kM+h gSA muesa dkyh cl] yky cl ls Bhd nkfgus [kM+h gS]
gjh cl uhyh vkSj ihyh ds chp esa [kM+h gS rFkk ihyh cl
dkyh vkSj gjh ds chp esa gSA rc fcydqy chp esa fdl
jax dh cl gS\
(A) ihyh (B) uhyh
(C) dkyh (D) gjh

7. ;fn '+' dk vFkZ '÷', '×' dk vFkZ '+', '-' dk vFkZ '×' vkSj
'÷' dk vFkZ '-' gks] rks uhps fy[ks x, lehdj.kksa esa ls
dkSu&lk lehdj.k lR; gS\
(A) 24 + 8 - 7 × 6 ÷ 4 = 25

(B) 20 × 5 + 12 ÷ 6 × 5 = 15

(C) 20 ÷ 5 + 6 × 12 - 4 = 
6

1
67

(D) 50 - 4 + 8 × 18 ÷ 6 = 21

8. dkSu&lh la[;k,¡ dsoy ,d T;kfefrd vkÑfr esa fn[kkbZ
nsrh gS\

3 8 7 9

4

6

2

1

(A) 4, 6, 7 (B) 1, 2, 9

(C) 3, 7, 9 (D) 2, 3, 8

9. yM+fd;ksa dh ,d iafDr esa deyk ckbZ vksj ls nlosa Øe
ij gS vkSj foeyk nkbZa vksj ls ckjgosa  Øe ijA ;fn os nksuksa
viuh txgsa vkil esa cny ysa] rks deyk dk ckbZa vksj ls
Øe lksygok¡ gks tk,xkA rc foeyk dk nkbZa vksj ls Øe
fdruk gks tk,xk\
(A) 18ok¡ (B) 22ok¡
(C) 26ok¡ (D) 28ok¡

funsZ'k%  (iz- la- 10)%& ,d dwV Hkk"kk esa fuEufyf[kr v{kjksa dks
,d fof'k"V fof/ ls fy[kk tkrk gS tSlk fd uhps n'kkZ;k
x;k gSA ml dwV Hkk"kk esa fn, x, v{kjksa dks dSls fy[ksaxs\
A C N P R M D Y Z Q

4 9 0 6 2 1 7 8 3 5

Q R C Y N P D

(A) 5298067 (B) 5298061

(C) 5984067 (D) 5298306

fUknsZ'k % (iz- la- 11&17) fn;s x;s fodYiksa esa ls lacaf/r
v{kjksa@ 'kCn@ la[;k dks pqfu;sA
11. xktj % tM+ % % lsc % \

(A) ikS/k (B) iQy
(C) iq"i (D) cht
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12. PIGEON : PEACE : : ?

(A) CROWN : HEAD

(B) WHITE FLAG : SURRENDER

(C) LAURELS : VICTORY

(D) WAR : LIBERTY

13. Sculptor : Chisel : : Author : ?

(A) Table (B) Paper

(C) Book (D) Pen

14. RUX : TRP : : BEH : ?

(A) SQN (B) QON

(C) QOM (D) QNL

15. 63 : 9 : : ? : 14

(A) 68 (B) 42

(C) 96 (D) 56

16. XZY : WVU : : CAB : ?

(A) UVW (B) ABC

(C) FED (D) DEF

17. BOOK : BOOKCASE : : CLOTHES : ?

(A) RACK

(B) PRESS

(C) WARDROBE

(D) NAPTHALENE BALLS

18. Five people are sitting in a row facing you.

Y is at the left of X, W is sitting at the right

of Z. V is sitting at the right of X and W is

sitting at the left of Y. If Z is sitting at one

end who is in the middle?

(A) V (B) X

(C) Y (D) Z

19. Arrange the following words according to

dictionary:

1. Exploit 2. Explosive

3. Exponent 4. Exposition

5. Explore

(A) 1, 3, 4, 5, 2 (B) 1, 5, 2, 3, 4

(C) 1, 5, 3, 2, 4 (D) 1, 2, 5, 3, 4

Directions: (Q. No. 20-25) A series is given with

one term missing. Choose the correct

alternative from the given ones that will

complete the series.

20. Z3a, W5d, T8g, Q12j,  ?

(A) M16n (B) N17m

(C) N16k (D) K17n

21. DGJ, FIL, HKN, JMP,  ?

(A) LON (B) LOR

(C) LOQ (D) LOM

22. 321, 301,  ? , 181, 21

(A) 281 (B) 161

(C) 241 (D) 261

23. 2816,  ? , 176, 44, 11

(A) 704 (B) 1408

(C) 352 (D) 2640

24. 1, 5, 21, 57, 121,  ?

(A) 150 (B) 176

(C) 200 (D) 221

25. Question Figures:

?
Answer Figures:

(A) (B) (C) (D)

26. Number of each letter in the given word are

indicated in each alternative. Identify the

correct one.

COMMISSION

(A) C
1
O

2
M

2
I
2
S

2
N

1
(B) C

1
O

1
M

2
I
2
S

2
N

1

(C) C
2
O

2
M

2
I
2
S

2
N

1
(D) C

1
O

2
M

2
I
2
S

2
N

2

27. If RUSH is coded as 66, then how is GIRL

coded as?

(A) 75 (B) 64

(C) 47 (D) 46

28. I f  TORTISE is  coded as VQTVKUG,

ELEPHANT is coded as

(A) GRJPVNOR (B) RNRQGCOV

(C) GRGCPVGN (D) GNGRJCPV

29. 'Suma' is shorter than 'Uma', 'Neha is taller

than 'Suma', 'Sudha' is taller than 'Uma' but

shorter than 'Hema'. 'Uma is taller than

'Neha'. How is the tallest among them?

(A) Hema (B) Uma

(C) Sudha (D) Neha

30. Which of the answer figures is exactly the

mirror image of the given figure when mir-

ror is held as shown?

Question Figure:

Answer Figures:

(A) (B) (C) (D)

31. Which response represents Language,

English, Hindi?

(A) (B)  

(C) (D) 
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12. dcwrj % 'kkafr % % \
(A) rkt % flj
(B) liQsn >aMk % leiZ.k
(C) ykWjsy % fot;
(D) ;q¼ % Lora=krk

13. f'kYih % Nsuh % % ys[kd % \
(A) est (B) dkxt
(C) iqLrd (D) isu

14. RUX : TRP : : BEH : ?

(A) SQN (B) QON

(C) QOM (D) QNL

15. 63 : 9 : : ? : 14

(A) 68 (B) 42

(C) 96 (D) 56

16. XZY : WVU : : CAB : ?

(A) UVW (B) ABC

(C) FED (D) DEF

17. iqLrd % iqLrd eatw"kk (dsl) % % diM+s % \
(A) jSd (B) izsl
(C) vyekjh (okMZjksc) (D) uSIFksyhu xksfy;k¡

18. ikap yksx vkidh vksj eqag djds ,d iafDr esa cSBs gSaA Y,

X ds ckbZa vksj gS_ W, Z ds nk;ha vksj cSBk gSA V, X ds nk;ha
vksj cSBk gS vkSj W, Y ds ckbZa vksjA ;fn Z iafDr ds ,d
Nksj ij cSBk gS rks chp esa dkSu cSBk gS\
(A) V (B) X

(C) Y (D) Z

19. fuEufyf[kr 'kCnksa dks 'kCndks"k ds Øe esa O;ofLFkr dhft,%
1. Exploit 2. Explosive

3. Exponent 4. Exposition

5. Explore

(A) 1, 3, 4, 5, 2 (B) 1, 5, 2, 3, 4

(C) 1, 5, 3, 2, 4 (D) 1, 2, 5, 3, 4

funsZ'k% (iz- la- 20&25) ,d vuqØe fn;k gS] ftlesa ,d in
yqIr gSA fn, x, fodYiksa esa ls og lgh fodYi pqusa tks
vuqØe dks iwjk djsA

20. Z3a, W5d, T8g, Q12j,  ?

(A) M16n (B) N17m

(C) N16k (D) K17n

21. DGJ, FIL, HKN, JMP,  ?

(A) LON (B) LOR

(C) LOQ ( D )

LOM

22. 321, 301,  ? , 181, 21

(A) 281 (B) 161

(C) 241 (D) 261

23. 2816,  ? , 176, 44, 11

(A) 704 (B) 1408

(C) 352 (D) 2640

24. 1, 5, 21, 57, 121,  ?

(A) 150 (B) 176

(C) 200 (D) 221

25. iz'u vkÑfr;k¡%

?

mÙkj vkÑfr;k¡%

(A) (B) (C) (D)

26. fn, x, 'kCn esa gj v{kj dh la[;k gj fodYi esa nh xbZ gSA
lgh fodYi pqfu,%
COMMISSION

(A) C
1
O

2
M

2
I
2
S

2
N

1
(B) C

1
O

1
M

2
I
2
S

2
N

1

(C) C
2
O

2
M

2
I
2
S

2
N

1
(D) C

1
O

2
M

2
I
2
S

2
N

2

27. ;fn RUSH dks dwV Hkk"kk esa 66 fy[kk tk, rks GIRL dks
dSls fy[kk tk,xk\
(A) 75 (B) 64

(C) 47 (D) 46

28. ;fn TORTISE dks dwV Hkk"kk esa VQTVKUG fy[kk tk,
rks ELEPHANT dks dSls fy[kk tk,xk\
(A) GRJPVNOR (B) RNRQGCOV
(C) GRJCPVGN (D) GNGRJCPV

29. lqek mek ls NksVh gS] usgk lqek ls yach gS] lq/k mek ls yach
gS ysfdu gsek ls NksVh gS] mek usgk ls yach gSA muesa lcls
yach dkSu gS\
(A) gsek (B) mek
(C) lq/k (D) usgk

30. mÙkj vkÑfr;ksa esa ls dkSu&lh vkÑfr iz'u vkÑfr dh
fcYdqy lgh izfrÑfr gksaxh] tcfd niZ.k xy ij j[kk gks\
iz'u vkÑfr%

mÙkj vkÑfr;k¡%

(A) (B) (C) (D)

31. dkSu lk vkjs[k Hkk"kk] vaxzsth] fgUnh dk laca/ n'kkZrk gS\

(A) (B)  

(C) (D) 
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32. In the following Venn diagram identify the

letters which denotes players who are also

doctors but, not artists:

A

BC
D E

F

G

H

Players

Doctors

Artists

(A) B + E (B) E

(C) B (D) A

Directions: (Q. No. 33)  Among the four answer

figures which one can be formed from the cut

out pieces given below?

33. Question Figure:

Answer Figures

(A) (B) (C) (D)

Directions: (Q. No. 34) : A paper is folded and cut

as shown in the figure. When opened how will it

appear? Choose from the given responses.

34. Question Figure:

?

Answer Figures

(A) (B) (C) (D)

35. A square paper is folded in a particular man-

ner and a punch is made. When unfolded

the paper appears as given below:

Question Figure

Find out the manner in which the paper is

folded and punch is made from the responses

given:

Answer Figures

(A) (B) (C) (D)

Directions: (Q. No. 36-37) Arrange the follow-

ing words in a meaningful order.

36. 1. Neonate 2. Child 3. Infant

4. Embryo

(A) 1, 3, 2, 4

(B) 4, 1, 3, 2

(C) 4, 3, 1, 2

(D) 3, 1, 4, 2

37. 1. Plastering 2. Painting

3. Foundation 4. Walls 5. Ceiling

(A) 3, 4, 1, 2, 5

(B) 1, 2, 3, 4, 5

(C) 5, 4, 3, 2, 1

(D) 3, 4, 5, 1, 2

38. Among the four answer figures, which fig-

ure can be formed from the cut pieces given

in the question figure?

Question Figure:

Answer Figures

(A) (B) (C) (D)

Directions: In Question (39-43) select the one

which is different from the other three.

39. (A) House (B) Apartment

(C) Building (D) Society

40. (A) Crime-Blame (B) Short - Long

(C) Poor - Rich (D) Light - Heavy

41. (A) BFJQ (B) RUZG

(C) GJOV (D) ILQX

42. (A) AEGC (B) HLNJ

(C) OSVQ (D) VZBX

43. (A) 14, 9 (B) 17, 8

(C) 42, 3 (D) 21, 6
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32. fuEu osx vkjs[k esa] mu v{kjksa dh igpku dhft, tks f[kykfM+;ksa
dks] tks MkWDVj Hkh gksa] ijUrq dykdkj ugha] dks n'kkZrs gSa%

A

BC
D E

F

G

H

f[kykM+h

MkWDVj

dykdkj

(A) B + E (B) E
(C) B (D) A

funsZ'k % (iz- la- 33)  pkj mÙkj vkÑfr;ksa esa ls dkSu&lh ,d
uhps fn;s gq, VqdM+ksa ls cu ldrh gS\
33. iz'u vkÑfr;k¡

mÙkj vkÑfr;k¡

(A) (B) (C) (D)

funsZ'k% (iz- la- 34)  ,d dkxt dks ml <+ax ls eksM+dj dkVk
tkrk gS tSlk dh nh xbZ vkÑfr;ksa esa fn[kk;k x;k gSA [kksyus
ij og fn, x, mÙkjksa ds vk/kj ij dSlk fn[kkbZ nsxk\
34. iz'u vkÑfr;k¡

?

mÙkj vkÑfr;k¡

(A) (B) (C) (D)

35. ,d oxkZdkj dkxt dks ,d fo'ks"k <+ax ls eksM+k tkrk gS vkSj
mlesa Nsn fd;k tkrk gSA tc mls [kksyk tkrk gS rc
fuEufyf[kr :i ls fn[kkbZ nsrk gSA
iz'u vkÑfr

fn, x, mÙkjksa ds vk/kj ij og <+ax crkb, ftlds vuqlkj
dkxt dks eksM+k tkrk gS vkSj mlesa Nsn fd;k tkrk gSA

mÙkj vkÑfr;k¡

(A) (B) (C) (D)

funs Z'k% (iz- la- 36&37) fuEu 'kCnks a dks lkFkZd Øe esa O;ofLFkr djs aA

36. 1- uotkr 2- ckyd 3- f'k'kq 4- Hkzw.k

(A) 1, 3, 2, 4 (B) 4, 1, 3, 2
(C) 4, 3, 1, 2 (D) 3, 1, 4, 2

37. 1- IyLrj 2- isafVax 3- uhao 4- nhokjs 5- NÙk

(A) 3, 4, 1, 2, 5 (B) 1, 2, 3, 4, 5
(C) 5, 4, 3, 2, 1 (D) 3, 4, 5, 1, 2

38. pkj mÙkj vkÑfr;ksa esa ls dkSu&lh vkÑfr uhps iz'u vkÑfr
esa fn, x, VqdM+ksa ls cukbZ tk ldrh gS\

iz'u vkÑfr

mÙkj vkÑfr;k¡

(A) (B) (C) (D)

funsZ'k% (iz- la- 39&43) mls pqfu, tks vU; rhu ls fHkÂ gSA

39. (A) edku (B) vikVZesaV

(C) Hkou (D) laLFkk

40. (A) vijk/&vkjksi (B) ukVk&yack

(C) xjhc&vehj (D) gYdk&Hkkjh

41. (A) BFJQ (B) RUZG

(C) GJOV (D) ILQX

42. (A) AEGC (B) HLNJ

(C) OSVQ (D) VZBX

43. (A) 14, 9 (B) 17, 8

(C) 42, 3 (D) 21, 6
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44. Two positions of a dice are shown below.

When number 'one' is on the top, what num-

ber will be at the bottom?

Question Figure:

4

1
6

4

6
5

Answer Figures

3 5 2 6

(A) (B) (C) (D)

45. Which one of the following represents Mu-

sicians, Instrumentalists and Violinists?

(A) (B) (C) (D)

46. Which one of the answer figures shall com-

plete the given question figure?

Question Figure

?

Answer Figures

(A) (B) (C) (D)

Directions: In which answer figure is the ques-

tion figure embedded?

47. Question Figure

Answer Figures

(A) (B) (C) (D)

Directions : (Q. No. 48) Two statements are given

followed by four alternative inferences. Select

one which is most appropriate.

48. Statements:

Many science collegiates are highly creative.

Creative persons are very intelligent.

Inferences:

(A) Many science collegiates are very in-

telligent.

(B) Creative science collegiates are very in-

telligent.

(C) All science collegiates are very intelli-

gent.

(D) Persons being very intelligent are the

highly creative science collegiates.

Directions: (Q. No. 49) In question, one state-

ments is given followed by two conclusions /

assumptions (I) and (II). You have to consider

the two statements to be true even if they seem

to be at variance from commonly known facts.

You have to decide which of the given conclu-

sions and assumption, if any, follow from the

given statements.

49. Statement:

He is too industrious to be poor.

Assumptions:

(I) Very industrious people also can be poor.

(II) Very lazy people can also be rich

(A) Only I is implicit

(B) Only II is implicit

(C) Both I and II are implicit

(D) Neither I, nor II is implicit

50. Out of four figures which figure will best

represent the relationship amongst the

classes.

(A) Sparrow (B) Birds (C) Mice

(A) (B) (C) (D)
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44. ,d ikls dh nks fLFkfr;k¡ nh xbZ gSa tc ̂ ,d* Åij gS rks uhps
dkSu lh la[;k gksxh\

iz'u vkÑfr;k¡

4

1
6

4

6
5

mÙkj vkÑfr;k¡

3 5 2 6

(A) (B) (C) (D)

45. fuEu esa ls dkSu&lh vkÑfr laxhrdkjksa] okn~;dkjksa vkSj
ok;yu ctkus okyksa dks iznf'kZr djrh gS\

(A) (B) (C) (D)

46. dkSu&lh mÙkj vkÑfr nh xbZ iz'u vkÑfr dks iwjk djsxh\

iz'u vkÑfr

?

mÙkj vkÑfr;k¡

(A) (B) (C) (D)

funsZ'k% (iz- la- 47) fuEufyf[kr esa ls fdl mÙkj vkÑfr esa nh
xbZ iz'u vkÑfr fufgr gSA

47. iz'u vkÑfr

mÙkj vkÑfr;k¡

(A) (B) (C) (D)

funsZ'k% (iz- la- 48) nks dFkuksa ds ckn pkj oSdfYid fu"d"kZ
fn;s x;s gSaA buesa ls lcls mfpr dks Nk¡fV,A

48. dFku % vusd foKku dkWfyft,V vR;f/d ltZu'khy gksrs gS aA

ltZu'khy O;fDr vR;f/d izfrHkk'kkyh gksrs gSaA

fu"d"kZ % (A) vusd foKku dkWfyft,V vR;f/d izfrHkk'kkyh
gksrs gSaA

(B) ltZu'khy foKku dkWfyft,V vR;f/d
izfrHkk'kkyh gksrs gSaA

(C) lHkh foKku dkWfyft,V vR;f/d izfrHkk'kkyh
gksrs gSaA

(D) tks O;fDr vR;f/d izfrHkk'kkyh gksrs gSa os
vR;f/d ltZu'khy foKku dkWfyft,V gksrs
gSaA

funsZ'k% (iz- la- 49) ,d dFku ds vkxs nks fu"d"kZ @ iwokZuqeku
I o II fn, x, gSaA vki lkekU; Kkr rF;ksa esa vUrj gksus ij
Hkh nksuksa okD;ksa dh iM+rky] lR; le> dj djsaA vki r; djsa
fd fn, x, fu"d"kksZa ,oa iwokZuqekuksa esa ls dkSu&lk] ;fn dksbZ
gks] fn, x, dFkuksa ls fudyrk gSA

49. dFku % og bruk vf/d ifjJeh gS fd og xjhc ugha gks
ldrkA

iwokZuqeku% (I) cgqr vf/d ifjJeh yksx Hkh xjhc gks ldrs
gSaA

(II) cgqr vf/d vkylh yksx Hkh vehj gks ldrs
gSaA

(A) dsoy I gh ykxw gksrk gSA
(B) dsoy II gh ykxw gksrk gSA
(C) I vkSj II nksuksa ykxw gksrs gaSA
(D) u I vkSj u gh II ykxw gksrs gSaA

50. fuEu pkj vkÑfr;ksa esa ls dkSu&lh vkÑfr

(A) fpfM+;k¡ (B) if{k;ksa
(C) pwgksa

ds chp laca/ fu:fir djrh gS\

(A) (B) (C) (D)
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Part - II (Arithmetic)

51. A train, 240 m long, crosses a man walking

along the line in opposite direction at the

rate of 3 km/h in 10 seconds. The speed of

the train is

(A) 63 km/h (B) 75 km/h

(C) 83.4 km/h (D) 86.4 km/h

52. A boatman rows 1 km. in 5 minutes along

the stream and 6 km. in 1 hour against the

stream. The speed of the stream is

(A) 3 km/hr. (B) 6 km/hr.

(C) 10 km/hr. (D)12 km/hr.

53. A can complete 
3

1
 of a work in 5 days and B

5

2
 of the work in 10 days. In how many days

both A and B together can complete the

work?

(A) 10 (B) 
8

3
9

(C) 
5

4
8 (D) 

2

1
7

54. A, B and C entered into partnership in a

business. A got 
5

3
 of the profit and B and C

distributed the remaining profit equally. If

C got ` 400 less than A, the total profit was

(A) ̀  1600 (B) ̀  1200

(C) ̀  1000 (D) ̀  800

55. The ratio of two numbers is 4 : 5 when the

first is increased by 20% and the second is

decreased by 20%, the ratio of the resulting

number is

(A) 4 : 5 (B) 5 : 4

(C) 5 : 6 (D) 6 : 5

56. The ratio of the number giving the mea-

sures of the circumference and the area of

a circle of radius 3 cm is

(A) 1 : 3  (B) 2 : 3

(C) 2 : 9  (D) 3 : 2

57. Given that ;24.25 =  then the value of

48.052

53

−
 is

(A) 0.168 (B) 1.68

(C) 16.8 (D) 168

58. If m and n (n > 1) are whole numbers such

that mn = 121, the value of  (m - 1)n+1 is

(A) 1 (B) 10

(C) 121 (D) 1000

59. A, B and C alone can complete a work in 20

days, 30 days and 60 days respectively. A

works alone, however on every third day,

he takes the help of B and C. In how many

days will the work be completed?

(A) 10 (B) 12 (C) 15 (D) 18

60. Given that ;414.12 = the value of 
12

1

+
 is

(A) 0.414 (B) 2.414 (C) 3.414 (D) 5.414

61. If 4b2 + 2
1

2
=

b
, then the value of 

3

3

1
8 b +

b
is

(A) 0 (B) 1 (C) 2 (D) 5

62. A man buys a cetain number of oranges at

20 for ` 60 and an equal number at 30 for ̀

60. He mixes them and sells them at 25 for

` 60. What is his gain or loss percent?

(A) Gain of 4% (B) Loss of 4%

(C) Neither gain nor loss (D) Loss of 5%

63. Rita bought a television set with 20% discount

on the labelled price. She made a profit of  ̀

800 by selling it for ` 16,800. The labelled

price of the set was

(A) ̀  18,000/- (B) ̀  20,000/-

(C) ̀  22,000/- (D) ̀  24,000/-

64. The number, which when multiplied with

)23( + gives )1812( + , is

(A) 3223 − (B) 3223 +

(C) 6 (D) 2332 −

65. If x -y = 2 and x2 + y2  = 20, the value of

(x +y)2 is

(A) 38 (B) 36 (C) 16 (D) 12

66. If 2 = 1.4142 ....... is given, then the value

of )23/(7 +  correct to two decimal places is

(A) 1.59 (B) 1.60 (C) 2.58 (D) 2.57

67. The average temperature of the first 4 days

of a week was 37° C and that of the last 4

days of the week was 41° C. If the average

temperature of the whole week was 39° C,

the temperature of the fourth day was

(A) 38° C (B) 38.5° C (C) 39° C (D) 40° C

68. The average age of a husband and wife, who

were married 4 years ago, was 25 years at

the time of their marriage. The average age

of the family consisting of husband, wife

and a child, born during the interval is 20

years today. The age of the child is

(A) 1 year (B) 2 years

(C) 2.5 years (D) 3 years
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Part -II (vadxf.kr)

51. 240 ehú yEch ,d jsyxkM+h fdlh 3 fdehú@?kaú dh pky
ls jsyos ykbu ds lkFk&lkFk foijhr fn'kk esa pyus okys
vkneh dks 10 lsds.M esa ikj djrh gSA jsyxkM+h dh pky gksxh
(A) 63 fdehú@?kaú (B) 75 fdehú@?kaú

(C) 83.4 fdehú@?kaú (D) 86.4 fdehú@?kaú

52. ,d ukfod /kjk ds vuqfn'k 5 feuV esa 1 fdehú dh xfr
ls rFkk /kjk ds foijhr fn'kk esa ,d ?kaVs esa 6 fdehú dh xfr
ls uko [ksrk gSA /kjk dh pky gS
(A) 3 fdehú@?kaú (B) 6 fdehú@?kaú
(C) 10 fdehú@?kaú (D)12 fdehú@?kaú

53. A fdlh dk;Z dk 
3

1
 Hkkx 5 fnu esa rFkk B mlh dk;Z dk

5

2

Hkkx 10 fnu esa iwjk djrk gSA nksuksa A rFkk B feydj ml
dk;Z dks fdrus fnu esa iwjk djsaxs\

(A) 10 (B) 
8

3
9

(C) 
5

4
8 (D) 

2

1
7

54. A, B rFkk C fdlh O;kikj esa lk>snkj cus A  A dks dqy ykHk

dk 
5

3
 izkIr gqvkA 'ks"k ykHk dks B vkSj C us ijLij

cjkcj&cjkcj ck¡V fn;kA ;fn C dks A ls ̀  400    dk de
ykHkka'k izkIr gqvk gks] rks dqy ykHk Fkk
(A) ̀  1600 (B) ̀  1200

(C) ̀  1000 (D) ̀  800

55. nks la[;k,¡ 4 : 5 ds vuqikr esa gSaA igyh la[;k esa 20» dh
òf¼ rFkk nwljh esa 20» dh deh djus ij izkIr la[;kvksa esa
vuqikr gksxk
(A) 4 : 5 (B) 5 : 4

(C) 5 : 6 (D) 6 : 5

56. fdlh 3 lsehú f=kT;k okys òÙk dh ifjf/ rFkk mlds {ks=kiQy
dh eki crkus okyh la[;kvksa dk vuqikr gksxk
(A) 1 : 3  (B) 2 : 3

(C) 2 : 9  (D) 3 : 2

57. fn;k gS fd ;24.25 =  rks 
48.052

53

−
 dk eku gksxk

(A) 0.168 (B) 1.68

(C) 16.8 (D) 168

58. ;fn m rFkk n (n > 1) ,slh iw.kZ la[;k,¡ gSa fd  mn = 121

gS] rks  (m - 1)n+1 dk eku gksxk
(A) 1 (B) 10

(C) 121 (D) 1000

59. A, B rFkk C vdsys fdlh dk;Z dks Øe'k% 20 fnu] 30 fnu
rFkk 60 fnu esa iwjk dj ldrs gSaA A vdsyk dk;Z djrk gS]
fdUrq izR;sd rhljs fnu og B rFkk C dh enn ls dk;Z djrk
gS iwjk dk;Z fdrus fnu esa iwjk gksxk\
(A) 10  (B) 12 (C) 15  (D) 18

60. fn;k gS fd 2=1.414; 
1

2 +1
 dk eku gksxkA

(A) 0.414 (B) 2.414 (C) 3.414 (D) 5.414

61. ;fn 4b2 + 2
1

2
=

b
, gks rks 3

3

1
8 b +

b
 dk eku gksxk

(A) 0 (B) 1 (C) 2 (D) 5

62. ,d vkneha ̀  60 esa 20 ds Hkko ls dqN lUrjs [kjhnrk gS rFkk
mrus gh lUrjs ` 60 esa 30 ds Hkko ls [kjhnrk gSA og mUgsa
,d txg feykdj ̀  60 esa 25 ds Hkko ls csp nsrk gSA mldk
ykHk vFkok gkfu dk izfr'kr fdruk gS\
(A) 4% dk ykHk (B) 4% dk gkfu
(C) u ykHk u gkfu (D) 5% dh gkfu

63. jhVk us ,d Vsyhfotu lSV mlds vafdr ewY; ij 20» dh
NwV ds lkFk [kjhnkA mlus bldks ` 16, 800 esa cspdj `
800 dk ykHk vkftZr fd;kA lSV dk vafdr ewY; FkkA
(A) ̀  18,000/- (B) ̀  20,000/-

(C) ̀  22,000/- (D) ̀  24,000/-

64. og la[;k] ftls )23( + ds lkFk xq.kk djus  )1812( +

izkIr gksrk gS] gS

(A) 3223 − (B) 3223 +

(C) 6 (D) 2332 −

65. ;fn x - y = 2 rFkk x2 + y2  = 20 gks] rks (x +y)2 dk eku
gksxk
(A) 38 (B) 36 (C) 16 (D) 12

66. ;fn 2 = 1.4142 .......fn;k gS] rks )23/(7 +  dk

n'keyo ds 'kq¼ nks vadksa rd eku gksxk
(A) 1.59 (B) 1.60 (C) 2.58 (D) 2.57

67. fdlh lIrkg ds izFke 4 fnuksa dk vkSlr rkieku 37úC rFkk
vfUre 4 fnuksa dk vkSlr rkieku 41úC FkkA ;fn iwjs lIrkg
dk vkSlr rkieku 39ú gks] rks pkSFks fnu dk rkieku Fkk
(A) 38° C (B) 38.5° C

(C) 39° C (D) 40° C

68. ,d ifr vkSj iRuh] ftudh 4 o"kZ iwoZ 'kknh gqbZ Fkh] dh 'kknh
ds le; vkSlr vk;q 25 o"kZ FkhA vkt ifjokj] ftlesa ifr]
iRuh rFkk chp dh vof/ esa iSnk gksus okyk ,d cPpk
lfEefyr gS] dh vkSlr vk;q 20 o"kZ gSA cPps dh vk;q gS
(A) 1 o"kZ (B) 2 o"kZ
(C) 2.5 o"kZ (D) 3 o"kZ
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69. A student finds the average of ten 2-digit num-

bers. While copying numbers, by mistake, he

writes one number with its digits inter-

changed. As a result his answer is 1.8 less

than the correct answer. The difference of the

digits of the number, in which he made mis-

take, is

(A) 2 (B) 3

(C) 4 (D) 6

70. A reduction of 20% in the price of apples

enables a man to buy 16 kg more apples for

` 4000. What is the reduced price per kg of

apples ?

(A) ̀  64 (B) ̀  60

(C) ̀  50 (D) ̀  40

71. A and B travel the same distance at speeds

of 9 km/hr and 10 km/hr respectively. If A

takes 36 minutes more than B, the distance

travelled by each is

(A) 48 km                  (B) 54 km

(C) 60 km                  (D) 66 km

72. A is twice as fast runner as B, and B is thrice

as fast runner as C. If C travelled a distance

in 1 hour 54 minutes, the time taken by B

to cover the same distance is

(A) 19 minutes (B) 38 minutes

(C) 51 minutes (D) 57 minutes

73. A certain sum of money at simple interest

works out to ` 1012 in 
2

1
2 years and to `

1067.20 in 4 years. The rate of interest per

annum is

(A) 2.5% (B) 3%

(C) 4% (D) 5%

74. The ratio of the areas of two isosceles

triangles having equal vertical angles is

1 : 4. The ratio of their heights will be

(A) 1 : 2 (B) 3 : 4

(C) 2 : 3 (D) 6 : 7

75. If each of the radius of base and height of a

right circular cone is increased by 10%,

then the percentage of increase in the vol-

ume of the cone will be

(A) 20 (B) 33.l

(C) 44.2 (D) 100

76. A right circular cylinder just encloses a

sphere of radius r. The ratio of the surface

area of the sphere and the curved surface

area of the cylinder is

(A) 2 : 1  (B) 1 : 2

(C) 1 : 3 (D) 1 : 1

77. While selling a shirt, a shopkeeper gives a

discount of 7%. If he had given a discount of

9% he would have got ` 15 less as profit.

The marked price of the shirt is

(A) ̀  750 (B) ̀  720

(C) ̀  712.50 (D) ̀  600

78. 








×
++

×
+

×
+

×
+

× 2119

1
....

97

1

75

1

53

1

31

1
 is equal to

(A) 
21

20
(B) 

21

10

(C) 
40

21
(D) 

20

21

79. ( )7 + 4 3 - 7 - 4 3  is equal to

(A) 4 (B) 2

(C) 34 (D) 32

80. The ratio of bus fare to train fare from

Kolkata to a certain place is 3 : 4. If the train

fare is increased by 20% and bus fare by

10%, then the new ratio of bus fare to train

fare will be

(A) 11 : 16 (B) 11 : 8

(C) 11 : 32 (D) 11 : 4

81. A solution of salt and water contains 12%

salt by weight. After evaporation of 25 kg of

water from the solution, the concentration

of salt is 22%. What is the original quantity

of salt in the solution ?

(A) 55 kg (B) 47 kg

(C) 37 kg (D) 34 kg

82. ` 6,800 have been divided among A, B, C

such that A gets
3

2
 of what B gets and B gets

4

1
 of what C gets. B's share is

(A) ̀  1,600 (B) ̀  1,400

(C) ̀  1,200 (D) ̀  1,000

83. Three spheres of radii 6 cm, 8 cm, 10 cm

are melted to form a single solid sphere. The

radius of the sphere so formed is

(A) 10 cm (B) 11 cm

(C) 12 cm (D) 13 cm

84. The area of a circle inscribed in a square is

154 cm2. The area of the square is

22
=

7
π
 
 
 

(A) 216 cm2 (B) 205 cm2

(C) 196 cm2 (D) 184 cm2

85. A can complete 2/3 of a work in 4 days and

B can complte 3/5 of the work in 6 days. In

how many days can both A and B together

complete the work?

(A) 3 (B) 2

(C) 
3

3
4

(D) 
7

2
8
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69. ,d fo|kFkhZ nl 2&vadh; la[;kvksa dk vkSlr Kkr djrk gSA
la[;kvksa dh udy djus esa og xyrh ls ,d la[;k dks mlds
ijLij cnys gq, vadksa okyh la[;k fy[k ysrk gSA ifj.kke
Lo:i mldk mÙkj lgh mÙkj ls 1-8 de vkrk gSA ftl la[;k
dks fy[kus esa xyrh dh Fkh] mlds vadksa dk vUrj gksxk
(A) 2 (B) 3

(C) 4 (D) 6

70. lscksa ds ewY; esa 20» dh deh gkus ij ,d vkneh ̀  4000

esa 16 fdxzkú vf/d lsc [knhn ldrk gSA lscksa dk de gqvk
izfr fdxzkú ewY; fdruk gS\
(A) ̀  64 (B) ̀  60

(C) ̀  50 (D) ̀  40

71. A rFkk B  fdlh ,d gh nwjh dks Øe'k% 9 fdehú@?kaú rFkk
10 fdehú@?kaú dh pky ls r; djrs gSaA ;fn A B ls 36 feuV
dk le; vf/d ysrk gS rks nksuksa ds }kjk r; dh x;h nwjh gS

(A) 48 fdehú                  (B) 54 fdehú

(C) 60 fdehú                 (D) 66 fdehú

72. A B ls nqxuk rst /kod gS rFkk B C ls frxquk rst /kod
gSA ;fn C us dksbZ nwjh 1 ?kaVk 54 feuV esa r; dh gks] rks B
mls r; djus esa fdruk le; ysxk

(A) 19 feuV (B) 38 feuV

(C) 51 feuV (D) 57 feuV

73. lk/kj.k C;kt ls dksbZ /ujkf'k 
2

1
2  o"kZ esa ̀  1012 rFkk 4

o"kZ esa ` 1067-20 gksrh gSA C;kt dh okf"kZd nj gS
(A) 2.5% (B) 3%

(C) 4% (D) 5%

74. leku 'kh"kZ dks.k okys nks lef¼ckgq f=kHkqtksa ds {ks=kiQy 1 % 4
ds vuqikr esa gSaA mudh mQ¡pkb;ksa esa vuqikr gksxk
(A) 1 : 2 (B) 3 : 4

(C) 2 : 3 (D) 6 : 7

75. ;fn fdlh yEc òÙkh; 'kadq ds vk/kj dh f=kT;k rFkk mldh
mQ¡pkbZ esa ls izR;sd esa 10» dh of¼ dh tk,] rks 'kadq ds
vk;ru esa òf¼ dk izfr'kr gksxk
(A) 20 (B) 33.l

(C) 44.2 (D) 100

76. ,d yEc òÙkh; csyu fdlh r v¼ZO;kl okys xksys dks
Bhd&Bhd ifjc¼ djrk gSA xksys ds ì"Bh; {ks=kiQy dk csyu
ds oØ&i"̀Bh; {ks=kiQy ds vuqikr gksxk
(A) 2 : 1  (B) 1 : 2

(C) 1 : 3 (D) 1 : 1

77. fdlh deht dks csprs le; ,d nqdkunkj 7» dk ,d cV~Vk
nsrk gS ;fn mlus 9» dk cV~Vk fn;k gksrk rks mls ykHk ds :i
esa ` 15 de izkIr gq, gksrsA deht dk vafdr ewY; gS
(A) ̀  750 (B) ̀  720

(C) ̀  712.50 (D) ̀  600

78. 








×
++

×
+

×
+

×
+

× 2119

1
....

97

1

75

1

53

1

31

1
 cjkcj gS

(A) 
21

20
(B) 

21

10

(C) 
40

21
(D) 

20

21

79. 





 −−+ 347347  cjkcj gS

(A) 4 (B) 2

(C) 34 (D) 32

80. dksydrk ls fdlh LFkku ds cl&HkkM+s dk jsy&HkkM+s ls vuqikr
3 : 4 gSA ;fn jsy&HkkM+s esa 20» rFkk cl&HkkM+s esa 10» dh
òf¼ dh tk,] rks cl&HkkM+s dk jsy&HkkMs+ ls u;k vuqikr
gksxkA
(A) 11 : 16 (B) 11 : 8

(C) 11 : 32 (D) 11 : 4

81. ued rFkk ikuh ds ,d foy;u easa Hkkj ds vk/kj ij 12»
ued dh ek=kk gSA foy;u ls 25 fdxzkú ikuh okf"ir djus
ds i'pkr~ ued dh lkUnzrk 22» gks tkrh gSA foy;u esa
ued dh vkajfHkd ek=kk fdruh Fkh\
(A) 55 fdxzkú (B) 47 fdxzkú
(C) 37 fdxzkú (D) 34 fdxzkú

82. ` 6,800 dks A, B, C esa bl izdkj ck¡Vk x;k gS fd A dks

B ds 
3

2
 Hkkx ds cjkcj rFkk B dks C ds 

4

1
 Hkkx ds cjkcj

/ujkf'k izkIr gksrh gSA B dk Hkkx gS
(A) ̀  1,600 (B) ̀  1,400

(C) ̀  1,200 (D) ̀  1,000

83. rhu xksyksa] ftuds v/ZO;kl 6 lsehú] 8 lsehú rFkk 10 lsehú
gSa] dks fi?kykdj ,d ,dy Bksl xksyk cuk;k x;k gSA bl
izdkj cus xksys dk v/ZO;kl gksxk
(A) 10 lsehú (B) 11 lsehú
(C) 12 lsehú (D) 13 lsehú

84. ,d oxZ ds vUròZÙk dk {ks=kiQy 154 lseh2 gSA oxZ dk

{ks=kiQy gksxk 
22

=
7

yhft,π
 
 
 

A

(A) 216 lseh2 (B) 205 lseh2

(C) 196 lseh2 (D) 184 lseh2

85. A fdlh dk;Z ds 2/3 Hkkx dks 4 fnu rFkk B mlh dk;Z ds
3/5 Hkkx dks 6 fnu esa iwjk dj ldrk gSA nksuksa A rFkk B
feydj ml dk;Z dks fdrus fnu esa iwjk djsaxs\
(A) 3 (B) 2

(C) 
3

3
4

(D) 
7

2
8
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86. In the given figure ADC = 140° and AOB

is the diameter of circle then BAC will be:

A B

C
D

O

(A) 40° (B) 50°

(C) 70° (D) 75°

87. In the given figure AD, AE and BC are the

tangents then _________

A

B

C

D

E

F

(A) AD = AB + BC + CA

(B) 2AD = AB + BC + CA

(C) 3AD = AB + BC + CA

(D) 4AD = AB + BC + CA

88. In the given figure, A = 60° and ABC = 80°,

BPC would be equal to:

A
B

C

D

P
60°

80°

(A) 40° (B) 45°

(C) 20° (D) 30°

89. Find the value of x in the given figure__

A

B

C

D

P
x

4 cm

8 cm

7 cm

(A) 6 cm

(B) 7 cm

(C) 6.7 cm

(D) 7.7 cm

90. In an equilaterals ABC, if AD  BC then

which of the following would be correct?

(A) 2AB2 = 3AD2

(B) 3AB2 = 4AD2

(C) 5AB2 = 6AD2

(D) 4AB2 = 5AD2

91. In ABC, D, E and F are the mid-points of

sides BC, CA and AB respectively. If AD and

BE intersect each other at a point G then

AG + BG + CG will be equal to:

(A) AD = BE = CE

(B) 
2

3
(AD + BE + CF)

(C) 
3

2
(AD + BE + CF)

(D) 
1

3
 (AD + BE + CF)

92. For which of the following is equal to the

expression given 2 2 2 2cos8   

(A) 2 sin (B) 2 cos

(C) sin 2 (D) cos 2

93. If x = 7 cos and y = 9 sin then 
2 2x y

49 81
  will

be equals to–

(A) 49 (B) 81

(C) 1 (D) 0

94. How many solutions are of the equation  sin

 + cos  = 2?

(A) 0 (B) 1

(C) 2 (D) Infinity

95. The value of

2 2 2

2 2 3

tan 60 2tan 45 sec 30

3sin 45 sin90 cos 60 cos 0

  

   
is-

(A) 
49

12
(B) 

7

3

(C) 
14

9
(D) 

4

3

96. The value of sin10° + sin 20° + sin 30° +

....... + sin 360° is equal to –

(A) 0 (B) 
1

2

(C) 1 (D) 2

97. If x = cos2 sin, y = sin2 cos , which of

the following expression is independent

from ?

(1) (x2 + y2)3 / (x2y2) (2) 
2 2 3(x y ) / xy

Choose correct answer from the given code.

Code:

(A) Only (1)

(B) Only (2)

(C) Both (1) and (2)

(D) Neither (1) nor (2)
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86. fn, x, vkòQfr eas ADC = 140° ,oa AOB  òÙk dk
O;kl gS rks BAC gksxk%

A B

C
D

O

(A) 40° (B) 50°

(C) 70° (D) 75°

87. fn, x, vkòQfr eas AD, AE rFkk BC Li'kZ js[kk,¡ gksa] rks%

A

B

C

D

E

F

(A) AD = AB + BC + CA

(B) 2AD = AB + BC + CA

(C) 3AD = AB + BC + CA

(D) 4AD = AB + BC + CA

88. fn, x, vkòQfr esa A = 60° and rFkk ABC = 80°,

BPC gksxk%

A
B

C

D

P
60°

80°

(A) 40° (B) 45°

(C) 20° (D) 30°

89. fn, x, vkòQfr esa x gksxk\

A

B

C

D

P
x

4 cm

8 cm

7 cm

(A) 6 cm (B) 7 cm

(C) 6.7 cm (D) 7.7 cm

90. ,d leckgq f=kHkqt ABC esa ;fn AD  BC gks] rks&
(A) 2AB2 = 3AD2

(B) 3AB2 = 4AD2

(C) 5AB2 = 6AD2

(D) 4AB2 = 5AD2

91. f=kHkqt ABC dh Hkqtkvksa BC, CA rFkk AB osQ eè; fcUnq
ozQe'k% D, E, F gSA ;fn AD vkSj BE ,d nwljs dks fcUnq
G ij dkVrh gS] rks AG + BG + CG cjkcj gS&
(A) AD = BE = CE

(B) 
2

3
(AD + BE + CF)

(C) 
3

2
(AD + BE + CF)

(D) 
1

3
 (AD + BE + CF)

92. O;atd 2 2 2 2cos8     fdlosQ cjkcj gS\

(A) 2 sin (B) 2 cos

(C) sin 2 (D) cos 2

93. ;fn x = 7 cos ,oa y = 9 sin rks 
2 2x y

49 81
  cjkcj gS&

(A) 49 (B) 81

(C) 1 (D) 0

94. lehdj.k sin  + cos  = 2 osQ fdrus gy gSa\
(A) 0 (B) 1

(C) 2 (D) vuUr

95.
2 2 2

2 2 3

tan 60 2tan 45 sec 30

3sin 45 sin90 cos 60 cos 0

  

   
 dk eku

gksxk&

(A) 
49

12
(B) 

7

3

(C) 
14

9
(D) 

4

3

96. sin10° + sin 20° + sin 30° + ....... + sin 360°

dk eku cjkcj gS%

(A) 0 (B) 
1

2

(C) 1 (D) 2

97. ;fn x = cos2 sin, y = sin2 cos , rc
fuEufyf[kr esa ls dkSu&lk O;atd  ls Lora=k gS\

(1) (x2 + y2)3 / (x2y2) (2) 2 2 3(x y ) / xy

uhps fn, x, owQV dk iz;ksx dj lgh mÙkj pqfu,%

owQV%

(A) osQoy (1)

(B) osQoy (2)

(C) nksuksa (1) vkSj (2)

(D) u gh (1) vkSj u gh (2)
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98. At a point on level ground, the angle of

elevation of a vertical tower is found to be

such that its tagent is 5/12. On walking

192 metres towards the tower, the tangent

of the angle of elevation is 3/4. Find the

height of the tower :

(A) 160 meters (B) 180 meters

(C) 240 meters (D) 260 meters

99. A man's image is 
3

3
 times of his height,

then the allevation angle of man will be:

(A) 30° (B) 45°

(C) 60° (D) 75°

100. A child is 2 feet in height. He wants to

make his image look 2 times of his real

height. Find the angle between the child

and the sun.

(A) tan–1 2 (B) 60°

(C) 30° (D) tan–1 
1

2

ROUGH WORK
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98. fdlh [kaHks dk tehu ds fdlh fcUnw ls mUu;u dks.k bl
izdkj gS fd mlds Li'kZ js[kk dk eku 5/12 gSA tc ge
192 eh- [kaHks dh vksj pyrs gSa rks mUu;u dks.k dh   Li'kZ
js[kk dk eku 3/4 gks tkrk gSA ehukj dh Å¡pkbZ Kkr djsa
A
(A) 160 ehVj (B) 180 ehVj
(C) 240 ehVj (D) 260 ehVj

99. ,d vkneh dh ijNkkbZ mldh m¡QpkbZ osQ 
3

3
 xquk gS rks

vkneh dk mUurka'k dks.k gksxk&

(A) 30° (B) 45°

(C) 60° (D) 75°

100. ,d cPpk 2 iqQV yEck gS_ og viuh Nk;k yEckbZ osQ 2 xquk
fn[kkuk pkgrk gS] rks ml cPps vkSj lw;Z osQ chp dk dks.k
fdruk fMxzh dk cusxk\
(A) tan–1 2 (B) 60°

(C) 30° (D) tan–1 
1

2

ROUGH WORK



 Centres at: � MUKHERJEE NAGAR  � MUNIRKA  �UTTAM NAGAR  � DILSHAD GARDEN � ROHINI  � NARELA

=============================================================

Ph: 011-27607854, 08860-333-333 17

101. The chemical formula for Plaster of Paris is

(A) CaSO 
4

(B) CaSO
4
 2H

2
O

(C) 2CaSO
4 
. 4H

2
O (D) 2CaSO

4
. H

2
O

102. Which one of the following was the cause of

the battle of Plassey?

(A) The English levied heavy duties on the

goods entering Calcutta

(B) Siraj-ud-Daulah suspected that the En-

glish favoured his rivals

(C) The English began to fortify Calcutta

(D) Siraj-ud-Daulah was instigated by the

French

103. The Aryans succeeded in their conflicts with

the pre-Aryans because

(A) they used elephants on a large scale

(B) they were taller and stronger

(C) they were from an advanced urban cul-

ture

(D) they used chariots driven by horses

104. The property of a substance to absorb mois-

ture from the air on exposure is called

(A) Efflorescence (B) Osmosis

(C) Deliquescence (D) Iodine

105. Which of the following is a nitrogenous fer-

tilizer?

(A) Urea

(B) Calcium Cyanamide

(C) Calcium Ammonium Nitrate

(D) All of the above

106. To end the III Anglo-Mysore War,Tipu Sul-

tan signed the following Treaty with the Brit-

ish :

(A) Treaty of Mangalore

(B) Treaty of Srirangapatnam

(C) Treaty of Mysore

(D) Treaty of Bidnur

107. Who was the founder of the city of Agra?

(A) Firoz Tughalq

(B) Mohammed-bin-Tughlaq

(C) Alauddin Khilji

(D) Sikander Lodi

108. A great astronomer and mathematician dur-

ing the Gupta period was

(A) Bhanugupta

(B) Vagabhatta

(C) Aryabhatta

(D) Varahamihira

Part - III (General Awareness)

109. Which of the following was built by Akbar to

commemorate his conquest of Khandesh in

Gujarat?

(A) Bada Imambara (B) Buland

Darwaza

(C) Jama Masjid (D) Siddi Bashir

110. The Kailashnath temple at Ellora was

constructed by the

(A) Kadambas (B) Rashtrakutas

(C) Cholas (D) Cheras

111. The pancreas secretes hormones that helps

in

(A) The clotting of blood

(B) Growth of the body

(C) Maintaining the sugar balance

(D) The production of antibodies

112. The conversion of electrical energy into

chemical energy is observed in the working

of a/an

(A) Storage battery

(B) Fan

(C) Incandescent bulb

(D) Heater

113. Which one of the following is presently the

largest oil refinery of India?

(A) Vadodara (IOC)

(B) Mathura (IOC)

(C) Vishakhapatnam (HPCL)

(D) Mumbai (BPCL)

114. A Sailor in a submarine can see objects on

the surface of the sea with the help of a

(A) Gyroscope

(B) Telescope

(C) Steroscope

(D) Periscope

115. Imaginary lines joining places with same

temperature are called

(A) Isobars

(B) Isohyets

(C) Isohalines

(D) Isotherms

116. Where was the first Biosphere Reserve set

up in India?

(A) Great Nicobar

(B) gulf of Mannar

(C) Nanda Devi

(D) Nilgiri
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Part - III (lkekU; tkudkjh)

101. IykLVj vkWiQ isfjl dk jklk;fud lw=k gksrk gS&

(A) CaSO
4

(B) CaSO
4
 2H

2
O

(C) 2CaSO
4 
. 4H

2
O (D) 2CaSO

4
. H

2
O

102. Iyklh ds ;q¼ dk fuEufyf[kr esa ls dkSu lk ,d dkj.k Fkk\

(A) vaxzstksa us dydÙkk esa izos'k djus okys eky ij Hkkjh
'kqYd yxk,

(B) fljkt&mn~nkSyk dk la'k; Fkk fd vaxzstksa mlds izfr}afn;kasa
dh rjiQnkjh djrs Fks

(C) vaxzstksa us dydÙks dh fdyscUnh 'kq: dj nh Fkh

(D) fljkt&mn~íkSyk dks izQklhfl;ksa }kjk mdlk;k x;k Fkk

103. vk;Z vk;Z&iwoksZa ds lkFk vius la?k"kksZa esa liQy jgs D;ksafd

(A) mUgksaus cM+s iSekus ij gkfFk;ksa dk iz;ksx fd;k

(B) os vf/d yacs vkSj vf/d cyoku Fks

(C) os ,d mUur 'kgjh laLÑfr ls Fks

(D) mUgksuasa ?kksM+ksa }kjk pyk, tk jgs jFkksa dk iz;ksx fd;k

104. fdlh inkFkZ }kjk [kqyh voLFkk esa ok;q ls ueh vo'kksf"kr djus
dk xq.k dgykrk gS&

(A) izLiqQVu (B) ijklj.k

(C) ok;q esa xyu (D) vk;ksMhu

105. fuEufyf[kr esa dkSu&lh ukbVªkstuh moZjd gS\

(A) ;wfj;k

(B) oSQfY'k;e lk;ukekbM

(C) oSQfY'k;e veksfu;e ukbVªsV

(D) mijksDr lHkh

106. rhljs ,saXyksa&eSlwj ;q¼ dks lekIr djus ds fy, Vhiw lqYrku
us vaxzstksa ds lkFk fuEufyf[kr esa ls dkSu lh lfU/ dh Fkh\

(A) eaxykSj dh laf/ (B) JhjaxiVue~ dh laf/

(C) eSlwj dh laf/ (D) fcnuwj dh laf/

107. vkxjk uxj dh LFkkiuk fuEufyf[kr esa ls fdlds }kjk dh xbZ
Fkh\

(A) fiQjkst rqxyd (B) eqgEen&fcu&rqxyd

(C) vykmíhu f[kYth (D) fladnj yksnh

108. xqIr 'kklu ds nkSjku fuEufyf[kr esa ls ,slk O;fDRk dkSu Fkk
tks ,d egku [kxksy foKkuh rFkk xf.krK Fkk\

(A) HkkuqxqIr (B) okxHkV~V

(C) vk;ZHkV~V (D) ojkgfefgj

109. xqtjkr eas [kkuns'k fot; dh ;knxkj esa vdcj us fuEufyf[kr
esa ls fdldk fuekZ.k djk;k Fkk\
(A) cM+k bekeckM+k (B) cqyan njoktk
(C) tkek efLtn (D) flíh c'khj

110. ,syksjk esa dSyk'kukFk eafnj dk fuekZ.k fuEufyf[kr esa ls
fduds }kjk djok;k x;k Fkk\
(A) dnEc (B) jk"VªdwV
(C) pksy (D) psj

111. vkek'k; ls L=kfor gkZsekszu lgk;d gksrk gS&

(A) jDr dk FkDdk cukus esa

(B) 'kkjhfjd òf¼ esa

(C) 'koZQjk dk larqyu cuk;s j[kus esa

(D) ,UVhokWMht (izfrj{kh) mRiknu esa

112. fuEufyf[kr ea=kksa esa ls fdlesa fo|qr mQtkZ] jklk;fud mQtkZ
esa ifjofrZr gksrh gS\

(A) lapk;d lsy (cSVªh) (B) ia[kk

(C) iznhIr cYc (D) ghVj
113. bl le; Hkkjr esa lcls cM+k rsy 'kks/u dkj[kkuk fuEu esa

ls dkSu&lk gS\
(A) oMksnjk (IOC) (B) eFkqjk (IOC)

(C) fo'kk[kkiVue (HPCL) (D) eqacbZ (BPCL)

114. fdlh ikuh osQ iuMqch ls dksbZ ukfod lkxj osQ lrg ij fLFkr
oLrq dks ----------- dh lgk;rk ls ns[k ldrk gSA

(A) tk;jksLdksi

(B) VsyhLdksi

(C) LVsjksLdksi

(D) isjhLdksi
115. ,d gh rkieku okys LFkkuksa dks tksM+us okyh dkYifud js[kk,¡

dgykrh gSa
(A) lenkc js[kk,¡ (vkblksckj)
(B) leo"kkZ js[kk,¡ (vkblksgkbV)
(C) leyo.k js[kk,¡ (vkblksgsykbu)
(D) lerki js[kk,¡ (vkblksFkeZ)

116. Hkkjr easa lcls igyk tSo&e.Myh; vkjf{kr {ks=k dgk¡
LFkkfir gqvk\
(A) xzsV fudksckj
(B) eÂkj dh [kkM+h
(C) uank nsoh
(D) uhyfxfj
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117. The main constituents of pearls are

(A) Calcium oxide and aragonite

(B) Ammonium chloride and conchiolin

(C) Ammonium sulphate and sodium car-

bonate

(D) Calcium carbonate and magnesium car-

bonate

118. Which one of the following oil fields of India

is the oldest and still producing oil?

(A) Bombay High (B) Digboi

(C) Ankleshwar (D) Naharkatiya

119. Which one of the following cities will never

get the vertical rays of the sun?

(A) Srinagar

(B) Mumbai

(C) Kolkata

(D) Thiruvananthapuram

120. Which one of the following is the longest

National Highway in India?

(A) NH 2 (B) NH 7

(C) NH 8 (D) NH 31

121. Which one of the following is the largest

Committee of the Parliament?

(A) The Public Accounts Committee

(B) The Estimates Committee

(C) The Committee on Public Undertakings

(D) The Committee on Petitions

122. In which of the following years the

Fundamental Duties have been added to

the existing Fundamental Rights in the

Constitution of India?

(A) 1965

(B) 1976

(C) 1979

(D) 1982

123. Who among the following was not a member

of the Constituent Assembly?

(A) Sardar Vallabhbhai Patel

(B) Acharya J. B. Kriplani

(C) Lok Nayak Jayprakash Narayan

(D) K.M. Munshi

124. Shortsightedness occurs due to

(A) Elongation of the eyebails

(B) Weaker eye muscles

(C) Weakening of the retina

(D) Shifting of the iris

125. Who among the following recommends to

the Parliament for the abolition of the

Legislative Council in a State?

(A) The President of India

(B) The Governor of the concerned State

(C) The Legislative  Council of the

concerned State

(D) The Legislative Assembly of the

concerned State

126. To which among the following the residu-

ary power were conferred by the federation

established by the Act of 1935?

(A) Federal legislature

(B) Provincial legislatures

(C) Govenor General

(D) Provincial Governors

127. Zero Hour in the Indian Parliament starts at

(A) first hour of the sitting

(B) last hour of the sitting

(C) 12 .00 noon

(D) no fixed timing

128. The age of a tree can be determined fairly

accurately by

(A) Measuring the diameter of the trunk

(B) Counting the number of annual rings in

the trunk

(C) Measuring the height of the trunk

(S) Counting the number of branches

129. The gas released during photosynthesis is

(A) Carbon  dioxide

(B) Oxygen

(C) Carbon monoxide

(D) Sulphur dioxide

130. Cellulose is the chief constituent of

(A) cell wall

(B) cell membrane

(C) secondary wall of xylem

(D) body wall of insects

131. Which one of the following is used as a food

preservative?

(A) Sodium benzoate

(B) Sodium thiosulphate

(C) Sodium hydroxide

(D) Sodium bicarbonate

132. The name of plastic polymer from which

combs, toys, bowls etc can be made, is

(A) Polyurethane (B) Polystyrene

(C) Metallic Polysulphides (D) Teflon

133. Which conservation principle is applicable

in the case of the motion of a rocket?

(A) Conservation of mass

(B) Conservation of charge

(C) Conservation of momentum

(D) Conservation of energy
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117. eksrh osQ izeq[k vo;o gSa&

(A) oSQfY'k;e vkWDlkbM vkSj vkxksZukbV

(B) veksfu;e DyksjkbM vkSj dkWufp;ksyhu

(C) veksfu;e lYisQV vkSj lksfM;e dkscksZusV

(D) oSQfY'k;e dkcksZusV vkSj eSXuhf'k;e dkcksZusV

118. Hkkjr ds fuEufyf[kr rsy&{ks=kksa esa ls dkSu&lk ,d lokZfèkd
izkphu gS ,oa vHkh Hkh rsy mRiknu dj jgk gS\

(A) ckWEcs gkbZ (B) fnXcksbZ

(C) vadysJj (D) ugjdfV;k

119. fuEufyf[kr esa ls fdl ,d uxj esa dHkh Hkh lw;Z&fdj.ksa
mQèokZ/kj ugha izkIr gksaxh\

(A) Jhuxj (B) eqEcbZ

(C) dksydkrk (D) fr:ouUriqje

120. Hkkjr esa fuEufyf[kr esa ls dkSu&lk ,d lcls yEck jk"Vªh;
jktekxZ (NH) gS\
(A) NH 2 (B) NH 7

(C) NH 8 (D) NH 31

121. fuEufyf[kr esa ls dkSu&lh ,d lcls cM+h lalnh; lfefr
gS\

(A) yksd ys[kk lfefr

(B) izkDdyu lfefr

(C) ljdkjh miØe lfefr

(D) ;kfpdk lfefr (dfeVh vkWu fifV'kUl)

122. fuEufyf[kr esa ls fdl o"kZ esa Hkkjr ds lafo/ku esa fo|eku
ewy vf/dkjksa esa ewy drZO;ksa dks tksM+k x;k Fkk\
(A) 1965 (B) 1976

(C) 1979 (D) 1982

123. fuEufyf[kr esa ls dkSu lafo/ku lHkk dk lnL; ugha Fkk\

(A) ljnkj oYyHkHkkbZ iVsy

(B) vkpk;Z tsú chú dìykuh

(C) yksduk;d t;izdk'k ukjk;.k

(D) dsú ,eú eqa'kh

124. fudV nf̀"V nks"k gksrk gS&

(A) vkbZckWy (iqryh) osQ c<+us ls

(B) jsfVuk osQ detksj gks tkus ls
(C) vk¡[k dh isf'k;ksa osQ detksj gks tkus ls

(D) ifjrkfjdk osQ vius LFkku ls gVus ls

125. fuEufyf[kr esa ls dkSu fdlh jkT; esa fo/ku ifj"kn~ ds
mRlknu ds fy, laln~ dks vuq'kalk djrk gS\
(A) Hkkjr dk jk"Vªifr
(B) lEcfU/r jkT; dk jkT;iky
(C) lEcfU/r jkT; dh fo/ku ifj"kn~
(D) lEcfU/r jkT; dh fo/ku lHkk

126. 1935 ds vf/fu;e }kjk LFkkfir la?k }kjk vof'k"V 'kfDr;k¡
fuEufyf[kr esa ls fdl dks iznku dh xbZ Fkh\

(A) la?kh; fo/kue.My dks

(B) izkarh; fo/kue.Myksa dks

(C) xouZj tujy dks

(D) izkarh; xouZjksa dks

127. Hkkjrh; laln esa 'kwU; dky dc 'kq: gksrk gS\

(A) cSBd ds igys ?kaVs ij

(B) cSBd ds vafre ?kaVs ij

(C) nksigj 12 .00 cts

(D) dksbZ fu;r le; ugha gS

128. fdlh ò{k dh vk;q vPNs <ax ls 'kq¼rkiwoZd ekih tk ldrh
gS&
(A) rus dk O;kl ekidj
(B) rus esa okf"kZd ?ksjksa (oy;ksa) dh x.kuk djosQ
(C) rus dh yEckbZ eki dj
(D) 'kk[kkvksa dh la[;k fxudj

129. izdk'kla'ys"k.k ds nkSjku fueqZDr xSl gksrh gS

(A) dkcZu MkbvkWDlkbM

(B) vkWDlhtu

(C) dkcZu eksuksvkWDlkbM

(D) lYiQj MkbvkWDlkbM

130. lsyqyksl fuEufyf[kr esa ls fdldk eq[; ?kVd gS\

(A) dksf'kdk & fHkÙk

(B) dksf'kdk & dyk

(C) tkbyse dh f}rh;d fHkfÙk

(D) dhVksa dh 'kjhj&fHkfÙk

131. fuEufyf[kr esa og dkSu lk inkFkZ gS ftldk mi;ksx [kkn~;
ifjj{kh ds :i esa fd;k tkrk gS\

(A) lksfM;e csUtks,V

(B) lksfM;e Fkk;kslYiQsV

(C) lksfM;e gkbZMªkWDlkbM

(D) lksfM;e ckbdkcksZusV

132. ftl IykfLVd ikWfyej ls da?ks] f[kykSus] dVksjs vkfn cuk,
tkrs gSa mldk uke gS

(A) ikWfy;wfjFksu

(B) ikWfyLVkbjhu (C) esVsfyd ikWfylYiQkbM
(D) VsÝyku

133. jkWdsV dh xfr ij fuEufyf[kr esa ls dkSu lk laj{k.k fl¼kar
ykxw gksrk gS\

(A) nzO;eku dk laj{k.k

(B) vkos'k dk laj{k.k

(C) laosx dk laj{k.k

(D) mQtkZ dk laj{k.k
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134. The acid present in gastric juice is

(A) Hydrochloric (B) Nitric

(C) Sulphuric (D) Ascorbic

135. A warm-blooded animal is

(A) Shark (B) Snake

(C) Bat (D) Lizard

136. Which of the following is the hardest substance

in the human body?

(A) Bone (B) Enamel

(C) Dentine (D) Nail

137. Blood pressure is high in the

(A) Ventricles (B) Arteries

(C) Veins (D) Auricles

138. Which of the following is optical illusion?

(A) Rainbow (B) Earthshine

(C) Halo (D) Mirage

139. Match List—I with List—II and select the

correct answer using the code given below

the lists:

List—I List—II

(Player) (Sport)

A. Gagan Narang 1. Archery

B. Akhil Kumar 2. Swimming

C. Mangal Singh Champia 3. Boxing

D. Virdhawal Khade 4. Rifle Shooting

Code:

(A) A B C D

4 1 3 2

(B) A B C D

2 3 1 4

(C) A B C D

4 3 1 2

(D) A B C D

2 1 3 4

140.The 2016 Winter Youth Olympics will be held

in Lillehammer. It is in which country?

(A) Sweden (B) Norway

(C) Finland (D) Russia

141. In which one of the following Ministries the

census organization has been functioning

on a permanent footing since 1961?

(A) Health and Family Welfare

(B) Home Affairs

(C) Social Justice and Empowerment

(D) Human Resource Development

142. Which one among the following States has

the highest gender disparity?

(A) Orissa (B) Uttar Pradesh

(C) Haryana (D) Maharashtra

143. Which one of the following statements

regarding judiciary in India is not correct?

(A) District Courts in India are presided

over by a Judge

(B) The District and Session Judge is the

principal court of civil jurisdiction

(C) The Munsif's court has both civil and

criminal jurisdiction

(D) The Ditrict and Session Judge has power

to impose capital punishment

144. The impeachment of the President of India

can be initiated in

(A) either House of the Parliament

(B) a joint sitting of both Houses of the

Parliament

(C) the Lok Sabha alone

(D) the Rajya Sabha alone

145. Formal or procedural democracy does not

by any means guarantee

(A) polictical and civil rights

(B) constitutionalism

(C) the rule of law

(D) absence of caste discrimination

146.Which Serbian tennis star, was awarded with

the highest Serbian Award, the Gold Star of

Karadjordee?
(A) Sebastian Vittal     (B) Serena Williams

(C) Leander Paes        (D) Novak Jokovich

147.Who was conferred with a top International

Olympic Committee  Award for her

contribution in promoting sports among

women?
(A) Saina Nehwal       (B) Manisha Malhotra

(C) Medha Patekar     (D) Sania Mirza

148. Carbon Tax is —

(A) Tax on Fuel

(B) Emission of carbon

(C) Environmental Tax

(D) Trading Tax

149. Which country implemented carbon tax

First?

(A) Finland (B) Australia

(C) Sweden (D) Norway

150.Who is the new President of FICCI?
(A) Mr. Siddhartha Birla
(B) Swati Piramal

(C) Mr. R V Kanoria
(D) Mr. Harsh Mariwala
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134. fuEufyf[kr esa ls dkSUk lk vEy vkek'k; jl esa jgrk gS\

(A) gkbMªksDyksfjd (B) ukbfVªd
(C) lYÝ;wfjd (D) ,LdkfcZfd

135. fuEufyf[kr esa ls fu;rrkih izk.kh dkSu lk gS\

(A) 'kkdZ (B) lk¡i

(C) pexknM+ (D) fNidyh

136. fuEufyf[kr esa ls dkSu lk inkFkZ ekuo 'kjhj esa lcls    vf/
d dBksj gksrk gS\

(A) vfLFk (B) nUroYd (buSey)

(C) nUr/krq (MsUVhu) (D) u[k

137. jDrpki (nkc) fuEufyf[kr esa ls fdlesa mPp gksrk gS\

(A) fuy; (B) /efu;k¡

(C) f'kjk,a (D) mRdks"B

138. fuEufyf[kr esa ls ^nf̀"V Hkze* dkSu lk gS\

(A) bUnz/uq"k (B) Hkw&nhfIr

(C) izHkkeaMy (gSyks) (D) ejhfpdk

139. lwph&I dks lwph&II ds lkFk lqesfyr dhft, vkSj lwfp;ksa ds
uhps fn, x, dwV dk iz;ksx dj lgh mÙkj pqfu,%

lwph I lwph II

(f[kykM+h) ([ksy)

A. xxu ukjax 1. rhjUnkth

B. vf[ky dqekj 2. rSjkdh

C. eaxy flag pkfEi;k 3. eqDdsckth

D. fo/Zoky [kkMs+ 4. jkbiQy 'kwafVx

dwV %
A B C D

(A) 4 1 3 2

(B) 2 3 1 4

(C) 4 3 1 2

(D) 2 1 3 4

140. o"kZ 2016 dk 'khrdkyhu ;qok vksyafid
fyYysgEej esa vk;ksftr fd;k tk,xkA ;g fdl ns'k esa gS\

  (A)LohMu        (B) ukosZ

  (C)fiQuyS.M        (D) :l

141. fuEufyf[kr ea=kky;ksa esa ls fdl ,d ds vUrxZr tux.kuk
laxBu] 1961 ls LFkk;h rkSj ij dk;Z djrk vk jgk gS\

(A) LokLF; ,oa ifjokj dY;k.k

(B) x̀g

(C) lkekftd U;k; ,oa vf/dkfjrk
(D) ekuo lalk/u fodkl

142. fuEufyf[kr jkT;ksa esa ls fdl ,d esa loksZPp fyax&vlekurk
gS\

(A) mM+hlk (B) mÙkj izns'k

(C) gfj;k.kk (D) egkjk"Vª

143. Hkkjr esa U;k;ikfydk ds fo"k; esa fuEufyf[kr esa ls dkSu lk
,d dFku lgh ugha gS\
(A) Hkkjr esa ftyk U;k;ky;ksa dh vè;{krk ,d U;k;k/h'k

}kjk dh tkrh gS
(B) ftyk ,ao l=k U;k;k/h'k flfoy vf/dkfjrk dk       iz/

ku U;k;ky; gS
(C) eqafliQ ds U;k;ky; dh flfoy vkSj nkf.Md nksuksa

vf/dkfjrk gksrh gS
(D) ftyk ,oa l=k U;k;k/h'k dks e`R;q n.M vf/jksfir djus

dh 'kfDr gksrh gS

144. Hkkjr ds jk"Vªifr dk egkfHk;ksx

(A) laln ds fdlh lnu esa vkjaHk fd;k tk ldrk gSA

(B) laln ds nksuksa lnuksa dh la;qDr cSBd esa vkjaHk fd;k tk
ldrk gS

(C) vdsys yksd lHkk esa vkajHk fd;k tk ldrk gS

(D) vdsys jkT; lHkk esa vkjEHk fd;k tk ldrk gS

145. vkSipkfjd vFkok dk;Zfof/d yksdra=k fdlh Hkh izdkj ls
fdldh xkj.Vh ugha nsrk\

(A) jktuhfrd ,oa flfoy vf/dkj

(B) lafo/ku&okn

(C) fof/ dk 'kklu

(D) tkfr HksnHkko dk vHkko

146. fdl ljfc;u Vsful LVkj dks ljfc;u dk loksZPp iqjLdkj
¶n xksYM LVkj vkWiQ djkMtksMhZ̧  iznku fd;k x;k\

(A) lscsfLV;u foV~Vy

(B) lsjsuk fofy;El

(C) fy,aMj isl

(D) uksokd tksdksfop

147- efgykvksa ds chp [ksy dks c<+kok nsus ds fy, fdls varjkZ"Vªh;
vksyfEid desVh iqjLdkj iznku fd;k x;k gS\

(A) lkbuk usgoky (B) euh"kk eYgks=kk

(C) es?kk ikVsdj (D) lkfu;k fetkZ

148. dkcZu VSDl -------------------- gSA

(A) bZa/uksa ij yxus okyk VSDl (B) dkcZu mRlZtu

(C) i;kZoj.kh; VSDl (D) O;kikfjd dj

149. dkcZu VSDl dks loZizFke ykxw fd;k Fkk\

(A) fiQuyS.M (B) vkWLVªsfy;k

(C) LohMu (D) ukosZ

150. fiQDdh osQ u;s ps;jeSu dkSu gSa\

(A) fl¼kFkZ fcM+yk

(B) Lokfr ifjey

(C) vkj- oh- duksfj;k

(D) g"kZ ekjhokyk
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Part - IV (English Comprehension)

Directions: (Q. No.151-155): Some of the
sentences have errors and some have non. Find
out which part of a sentence has error and
blacken the rectangle corresponding to the
appropriate letter (A), (B), (C). If there is no error,

blacken the rectangle corresponding to (D) in
the answer sheet.

151. (A) A baffling change/ (B) that I notice in

him after the accident/ (C) is that he avoids

to speak to me./ (D) No error

152. (A) I wondered/ (B) how could he speak/ (C)

in such a rude manner./ (D) No error

153. (A) One of the place where/ (B) violent

protest took place was Ahmedabad/ (C)

where Gandhiji preached non-violence./ (D)

No error

154. (A) Hardly the officer had arrived there/ (B)

to look into the case/ (C) when the house

of the victim was set on fire./ (D) No error

155. (A) Since his arrival in India / (B) he is

trying his best to start the project/ (C) of

spreading education amongst the poor

masses./ (D) No error

Directions (156 - 160): In the following

questions a part of the sentence is lined. Below

are given alternatives underlined part at (A),

(B), and (C) which improve the sentence. Choose

the at alternative. In case “no improve is

needed, your answer is (D).

156. With bated breadth

(A) In anxiety (B) In happiness

(C) In sorrow (D) In pain

157. A number of ships.

(A) fleet (B) galaxy

(C) constellation (D) group

158. A test in which cells from diseased organs

are removed and tested

(A) Biopsy (B) Autopsy

(C) Operation (D) Amputation

159. A foreigner who settles in a country.

(A) Immigrant (B) Emigrant

(C) Alien (D) Visitor

160. Place that provides refuge

(A) shelter (B) house

(C) country (D) asylum

Directions: (Q. No.161-165): A part of the

sentence is underlined.Below a given
alternatives to underlined part at (A), (B), (C)
which may improve the sentence. Choose the
correct alternative.In case of no improvement,

your answer is (D).

161. It is the time the three year old is learning

how to read and write.

(A) was learning (B) has learned

(C) learnt (D) No improvement

162. If I had money, I would send to you.

(A) had had (B) have had

(C) have (D) No improvement

163. This house is belonging to to me for two

years.

(A) belongs

(B) has been belonging

(C) has belonged

(D) No improvement

164. Socrates was one of the wisest man that

ever lived.

(A) one of the wisest men

(B) one wise man

(C) one of the wise men

(D) No improvement

165. Before I met her I had had a poor opinion of

her.

(A) have had (B) had

(C) did have (D) No improvement

Directions (166-170): In the following
questions, sentences are given with blanks to
be filled in with an appropriate and suitable
word. Four alternatives are suggested for each
question. Choose the correct alternative out
of the four i.e. (A), (B), (C), (D).

166. He works hard by day and sleeps soundly at
night with ____ clear conscience.

(A) a (B) an

(C) the (D) None of the above
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167. The lights went out while we _____ the
examination.

(A) were taken (B) are taken

(C) were taking (D) are taking

168. The exact reasons for their disagreement
____ yet to be made public.

(A) are (B) is

(C) had (D) was

169. The firm has been dealing _____ luxury
goods for more than two decades.

(A) in (B) with

(C) out (D) on

170. She ____ in Delhi for two years but has not
been the India Gate.

(A) is lived (B) had lived

(C) has been living (D) has lived

Directions (171-175): groups of four words are

given. In each group one word is correctly spelt.

Find the correctly spelt word and mark it in

your Answer-Sheet.

171. (A) irrepairable (B) irreparable

(C) irreparrable (D) irepairable

172. (A) superfluous (B) superflous

(C) superfluos (D) supperflous

173. (A) concomitant (B) concommitant

(C) concommittant (D) concommitent

174. (A) fluorescent (B) floorescent

(C) floorascent (D) flourascent

175. (A) tomorow (B) tommorow

(C) tomorrow (D) tommorrow

Directions: in questions no. 176 to 180, out of
the four alternatives, choose the one which best
expresses the meaning of the given word and
mark it in the answer sheet.

176. Irrevocable

(A) Change (B) Done

(C) Unalterable (D) Reversible

177. Repose

(A) Place (B) Keep

(C) Rest (D) Replace

178. Nurture

(A) To encourage (B) To grow

(C) To see (D) To maintain

179. Abuse

(A) Use (B) Praise

(C) Scorn (D) Raise

180. Considerate

(A) Agreeable (B) Kind

(C) Like-minded (D) Thoughtful

Directions: in questions no. 181 to 185 choose
the word opposite in meaning to the given word
and mark it in the answer sheet.

181. Fastidious

(A) Fussy (B) Cooperative

(C) Promising (D) Adjustable

182. Explicit

(A) Elusive (B) Allusive

(C) Ambidextrous (D) Ambiguous

183. Bleak

(A) Dull (B) Dark

(C) Bright (D) Exposure

184. Insolent

(A) Ignorant (B) Proud

(C) Laudable (D) Humble

185. Incredible

(A) Possible (B) Believable

(C) Enjoyable (D) Imaginary

Directions : In questions 186 to 190, four

alternatives are given for the idiom/ phrase
underlined in the sentence. Choose the
alternative which best expresses the meaning
of the idiom/phrase and mark it in the Answer
Sheet.

186. To strain every nerve

(A) to make utmost efforts
(B) to feel weak and tired
(C) to be a diligent worker
(D) to be methodical in work

187. To show a clean pair of heels

(A) to hide (B) to escape

(C)  to pursue (D) to follow

188. To feather one’s nest

(A) to make a residential house
(B) something that lasts for a short time
(C) to profit in a dishonest way
(D) none of the above

189. She could never measure up to her parent’s

expectation.

(A) Reach the level
(B) Work as hard
(C) Assess the amount
(D) Increase her height

190. The thief was on good terms with the police.

(A) Kept terms and conditions
(B) Was friendly
(C) Followed the rules
(D) Agreed with them
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Directions (191-200): In the following passage,
some of the words have been left out. First
read the passage over and try to understand
what it is about. Then fill in the blanks with
the help of the alternatives given. Mark your
answer in the Answer-Sheet.

Many of us believe that science is something

modern ...191... the truth is that ...192... has been

using science for ...193... very long time.

However, it has ...194... a greater effect on

human lives in the last twenty-five ...195... thirty

years. It has been hundreds of years ...196... the

invention of the plough took place. The ...197...

gifts of science have made modern life ...198...

and comfortable. But science has ...199... the

same time created new problems. One of these,

which may become ...200... in the years to come.

191. (A) if (B) though

(C) unless (D) thus

192. (A) men (B) people

(C) man (D) person

193. (A) the (B) a

(C) that (D) an

194. (A) even (B) have

(C) had (D) been

195. (A) and (B) or

(C) either (D) else

196. (A) from (B) for

(C) since (D) before

197. (A) marvellous (B) costly

(C) inexpensive (D) common

198. (A) dull (B) exciting

(C) aimless (D) painful

199. (A) at (B) in

(C) within (D) on

200. (A) bad (B) worse

(C) good (D) unpleasant

ROUGH WORK
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